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Assignment: Spatial Databases 

                                                     SQL for spatial queries (1) 

         Task : Repeat the query with all buildings, which are of type church and then repeat the 
query to create a layer, which contains churches and schools. 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Parinda Pannoon | s1093357 
 

          Task : Extend the query and add a column that contains the calculated area of the houses. 
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          Task : Extend the query as follows to calculate the distance 
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          Task : Add this result as new layer in the QGIS Project and style it accordingly (the styling 

aesthetics will not be graded). 
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          Task : Execute the following, modified query to select all buildings, which are within 500m to the 

fortress and visualise the result in QGIS. 
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          Task : Unfortunately, an elephant walked through my screen when I did the screenshot of the last 

example to show how many buildings are within 1km distance. How many buildings are there with this 

condition? 

 

 

   

 

 

 

 

 

 

 

 

 

          Task : Of course it is also possible to combine spatial operations and filters. What is the average 

size of all buildings, which are within 1km distance to the fortress (including the fortress itself)? Make a 

screenshot, which shows the query and the result and explain in your own words how the query works. 

 

 

 

 

 

 

 

  

 

 

 

 

There are 1906 buildings that are located within the fortress 

The average size of the buildings which are within 
1km of the fortress is 298.67 square meters. 
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Answer :  
 
This query is executed by using average function (AVG) that calculates the average value of 
a numerical dataset that returns from the SELECT statement. In this query, we need to find 
an average of building size so we use a spatial function of area (st_area(<geomA>)) inside 
the average function. St_area function returns the area of the geometry of the table “b” 
(b.geom). 
 
All the dataset in this query is “SBBuildings” table that was imported from vector layer. To 
specify which table to be selected, we use FROM command and use AS to assign a new 
name temporarily (“b”) to a table or even columns for making an easy writing of 
queries. However, in this query is also in the condition of the distance to the fortress so we 
need a second geometry column of the fortress, this is a sub query embedded within the 
WHERE (“Glockenturm”), and we set this subquery to a new short name “g”. 

 
Now, the query has only an average size of building, we need to know the average size of all 
buildings which are within 1km distance to the fortress so we use spatial function of 
distance(st_distance(<geomA>, <geomB>)) which requires 2 geometry columns, this is why 
we need to do a sub query of geometry column of the fortress. In this query, the first 
geometry is location of buildings and the second one is location of the fortress, then the 
distance function will execute the distance between these 2 geometries that a condition is 
must be within 1km from the fortress (<1000) 
 
The final result we will get the average size of the buildings which are within 1km of the 
fortress is 298.67 square meters. 
 


